VARIOUS P.D.E.s

Created by T. Madas

Question 1

It is given that $\psi = \psi(r, \theta)$.

Find a general circularly symmetric solution to the partial differential equation

$$\nabla^4 \psi = 0.$$

$$\psi(r) = A + Br^2 + C \ln r + Dr^2 \ln r$$

```
\begin{array}{c} \nabla \psi = 0 & \text{if } (\cos k \text{ for } A \text{ SMMHTC } \text{ SMMON } \sin k \text{ to } A22 = 0 \\ & \psi(t_1 e) = \psi(t) \\ & \nabla = \frac{1}{36} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12} + \frac{1}{12} \\ & \nabla \psi = \nabla^2 (\nabla^2 \psi) = \left(\frac{1}{62} + \frac{1}{12} + \frac{1}{12}
```

```
\begin{array}{l} \Rightarrow 3(2-1)(2) + 2(2-1) - 2 + 1 = 0 \\ \Rightarrow 3^{2} - 3^{2} + 2(1-2) - 2(1-2) - 2 + 1 = 0 \\ \Rightarrow 3^{2} - 3^{2} - 2(1-2) - 2 + 1 = 0 \\ \Rightarrow 3^{2} - 2(1-1) - (1-1) = 0 \\ \Rightarrow (2-1)(2^{2} - 1) = 0 \\ \Rightarrow (2-1)(2^{2} - 1) = 0 \\ \Rightarrow 3^{2} = -\frac{1}{1} = \text{CENNITO} \end{array}
\begin{array}{l} \text{This} \\ \Rightarrow 2 = A^{-1} + B^{-1} + C^{-1} | \text{in} \\ \text{dist} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \text{dist} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \text{dist} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \text{dist} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C^{-1} | \text{in} \\ \Rightarrow A = -\frac{A}{1} + B^{-1} + C
```